AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAMS

Federal Order No. 131

Released:

February 09, 2011

COMPUTATION OF UNIFORM PRICE

January 2011

		% UTILIZATION PER CLASS	PRODUCT POUNDS	<u>% SKIM</u> PER CLASS	SK POU		BFAT CLASS	BUTTERFAT POUNDS
Producer	Milk - Class I	32.88%	126,477,065	33.51%	124,14	7,270	16.40%	2,329,795
Producer	Milk - Class II	9.13%	35,126,579	8.43%	31,24	2,561	27.35%	3,884,018
Producer	Milk - Class III	26.52%	102,028,417	25.85%	95,75	0,729	44.20%	6,277,688
Producer	Milk - Class IV	31.47%	121,021,419	32.21%	119,31	0,350	12.05%	1,711,069
Total Pro	ducer Receipts	100.00%	384,653,480	100.00%	370,45	0,910	100.00%	14,202,570
			SKIM POUNDS		BFAT POUNDS	LB/C PRI		<u>TOTAL</u> <u>DOLLARS</u>
Class I	Skim Milk		124,147,27	0		\$9.33	/cwt	\$11,582,940.29
	Butterfat				2,329,795	\$1.7696	3 /lb	4,122,805.24
	Class I Differen	tial at Location						2,875,742.27
Class II	Skim Milk		31,242,56	1		\$10.03	/cwt	3,133,628.87
	Butterfat				3,884,018	\$2.0309) /lb	7,888,052.15
Class III	Skim Milk		95,750,72	9		\$6.63	/cwt	6,348,273.32
	Butterfat				6,277,688	\$2.0239) /lb	12,705,412.75
Class IV	Skim Milk		119,310,35	0		\$9.67	/cwt	11,537,310.84
	Butterfat				1,711,069	\$2.0239) /lb	3,463,032.55
Classified	d Value		370,450,910	- —)	14,202,570			\$63,657,198.28
Overage -	- Class IV		(0	11,877			\$24,037.86
Total Ove	erage			<u> </u>	11,877			\$24,037.86
Inventory	- Class II		(0	1,236			\$291.33
_	- Class III		185,14	7	4,614			(3,443.85)
Total Inve	entory		185,147	7 —	5,850			(\$3,152.52)
Class I O	ther Source Fluid		141,16	9	2			\$16,492.12
Location A	Adjustments							129,290.71
1/2 Balan	ce in Producer Se	ttlement Fund						187,825.16
Producer	Butterfat at Unifor	m Butterfat Price						(28,231,872.62)
Total Skir	m Milk and Aggre	gate Value	370,592,079	9	14,202,572	\$9.65477165	/cwt	\$35,779,818.99
Producer	Settlement Fund	Reserve				\$0.04477165	/cwt	\$165,920.19
Uniform	Skim Milk Price	(Maricopa County, AZ)				\$9.61 /cw	rt .	
Uniform	Butterfat Price					\$1.9878 /lb)	
Uniform	Price (Maricopa	County, AZ)	(\$9.61 x .965	5 + \$1.987	78 x 3.5)	\$16.23 /cv	vt	
Estimated	d Market Wide Util	ization in Class I						
Skim Per	centage		32.00%					
	Percentage		16.00%					
	3							

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAMS

Federal Order No. 131

Released:

March 10, 2011

% UTILIZATION

COMPUTATION OF UNIFORM PRICE

% SKIM

<u>SKIM</u>

% BFAT

PRODUCT

February 2011

BUTTERFAT

		PER CLASS	POUNDS	PER CLASS	POUND	DS PER CLASS	POUNDS
Producer	Milk - Class I	32.43%	118,114,621	33.03%	115,902,	656 16.76%	2,211,965
Producer	Milk - Class II	8.35%	30,401,201	7.80%	27,381,	554 22.87%	3,019,647
Producer	Milk - Class III	27.08%	98,608,555	26.38%	92,600,	408 45.51%	6,008,147
Producer	Milk - Class IV	32.14%	117,037,826	32.79%	115,076,		1,961,547
Total Pro	ducer Receipts	100.00%	364,162,203	100.00%	350,960,	897 100.00%	13,201,306
			<u>SKIM</u> POUNDS	<u>i</u>	BFAT POUNDS	LB/CWT PRICE	TOTAL DOLLARS
Class I	Skim Milk		115,902,6	56		\$9.57 /cwt	\$11,091,884.18
	Butterfat				2,211,965	\$1.9003 /lb	4,203,397.08
	Class I Differentia	ll at Location					2,690,422.54
Class II	Skim Milk		27,381,5	54		\$10.27 /cwt	2,812,085.60
	Butterfat				3,019,647	\$2.3037 /lb	6,956,360.80
Class III	Skim Milk		92,600,4	08		\$9.29 /cwt	8,602,577.92
	Butterfat				6,008,147	\$2.2967 /lb	13,798,911.21
Class IV	Skim Milk		115,076,2	79		\$10.74 /cwt	12,359,192.37
	Butterfat				1,961,547	\$2.2967 /lb	4,505,084.99
Classified	d Value		350,960,8	97	13,201,306		\$67,019,916.69
Inventory	- Class III		161,3	25	7,007		\$1,298.47
Total Inve	entory		161,3	25	7,007		\$1,298.47
Class I O	ther Source Fluid		144,2	04	1		\$17,191.04
Location A	Adjustments						112,334.13
1/2 Balan	ce in Producer Settl	ement Fund					180,435.25
Producer	Butterfat at Uniform	Butterfat Price					(29,514,162.06)
Total Skir	m Milk and Aggrega	ate Value	351,105,1	01	13,201,307 \$	10.77085278 /cwt	\$37,817,013.52
Producer	Settlement Fund Re	eserve			\$	0.04085278 /cwt	\$143,436.19
Uniform	Skim Milk Price (N	Maricopa County, AZ)			\$	10.73 /cwt	
Uniform	Butterfat Price				\$2	2.2357 /lb	
Uniform	n Price (Maricopa C	County, AZ)	(\$10.73 x .90	65 + \$2.235	7 x 3.5) \$	18.18 /cwt	
Estimated	d Market Wide Utiliza	ation in Class I					
Skim Per	centage		34.00%				
	Percentage		16.00%				

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAMS

Federal Order No. 131

Released:

April 11, 2011

COMPUTATION OF UNIFORM PRICE

March 2011

		% UTILIZATION PER CLASS	PRODUCT POUNDS	% SKIM PER CLASS	SKII POUN		BFAT CLASS	BUTTERFAT POUNDS
Producer	Milk - Class I	29.45%	121,671,934	29.97%	119,413	3,424	15.40%	2,258,510
Producer	Milk - Class II	6.90%	28,493,782	6.13%	24,422	2,065	27.77%	4,071,717
Producer	Milk - Class III	22.80%	94,167,728	22.17%	88,354	,012	39.65%	5,813,716
Producer	Milk - Class IV	40.85%	168,771,708	41.73%	166,252	2,624	17.18%	2,519,084
Total Pro	ducer Receipts	100.00%	413,105,152	100.00%	398,442	,125	100.00%	14,663,027
			<u>SKIM</u> POUNDS	<u>s</u>	BFAT POUNDS	LB/C\ PRIC		<u>TOTAL</u> DOLLARS
Class I	Skim Milk		119,413,4	-24		\$10.50	/cwt	\$12,538,409.55
	Butterfat				2,258,510	\$2.3136	/lb	5,225,288.73
	Class I Differen	tial at Location						2,774,941.15
Class II	Skim Milk		24,422,0	65		\$11.20	/cwt	2,735,271.28
	Butterfat				4,071,717	\$2.2929	/lb	9,336,039.91
Class III	Skim Milk		88,354,0	12		\$11.81	/cwt	10,434,608.81
	Butterfat				5,813,716	\$2.2859	/lb	13,289,573.40
Class IV	Skim Milk		166,252,6	24		\$11.82	/cwt	19,651,060.16
	Butterfat				2,519,084	\$2.2859	/lb	5,758,374.11
Classified	d Value		398,442,1	25	14,663,027			\$81,743,567.10
Overage	- Class IV		1,1	80	45		_	\$242.34
Total Ove	erage		1,1	80	45		_	\$242.34
Inventory	- Class II		1,030,4	25	9,854			\$4,702.51
Inventory	- Class III			0	994		_	(10.74)
Total Inve	entory		1,030,4	25	10,848			\$4,691.77
Class I O	ther Source Fluid		159,8	75	2			\$20,548.61
Location A	Adjustments							92,131.33
1/2 Balan	ce in Producer Se	ttlement Fund						178,949.42
Producer	Butterfat at Unifor	m Butterfat Price					-	(33,660,449.37)
Total Ski	m Milk and Aggre	gate Value	398,602,0	00	14,663,029	\$12.13734030	/cwt	\$48,379,681.20
Producer	Settlement Fund	Reserve			;	\$0.04734030	/cwt	\$188,699.38
Uniform	n Skim Milk Price	(Maricopa County, AZ)			;	\$12.09 /cw	t	
Uniform	Butterfat Price				;	\$2.2956 /lb		
Uniform	n Price (Maricopa	County, AZ)	(\$12.09 x .9	65 + \$2.295	66 x 3.5)	\$19.70 /cw	t	
Estimated	d Market Wide Util	ization in Class I						
Skim Per	centage		33.00%					
Butterfat	Percentage		17.00%					

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAMS

Federal Order No. 131

Released:

May 10, 2011

COMPUTATION OF UNIFORM PRICE

April 2011

		% UTILIZATION PER CLASS	PRODUCT POUNDS	% SKIM PER CLASS	<u>SKIN</u> POUNI		BUTTERFAT POUNDS
Producer	Milk - Class I	28.49%	116,263,986	28.97%	114,098,	846 15.15%	2,165,140
Producer	Milk - Class II	6.31%	25,749,242	5.68%	22,381,	263 23.58%	3,367,979
Producer	Milk - Class III	27.35%	111,623,573	26.62%	104,849,	948 47.42%	6,773,625
Producer	Milk - Class IV	37.85%	154,507,942	38.73%	152,529,	159 13.85%	1,978,783
Total Pro	ducer Receipts	100.00%	408,144,743	100.00%	393,859,	216 100.00%	14,285,527
			<u>SKIM</u> POUNDS		BFAT POUNDS	LB/CWT PRICE	<u>TOTAL</u> DOLLARS
Class I	Skim Milk		114,098,84	46		\$11.94 /cwt	\$13,623,402.21
	Butterfat Class I Different	ial at Location			2,165,140	\$2.2583 /lb	4,889,535.65 2,653,008.30
Class II	Skim Milk		22,381,26	63		\$12.33 /cwt	2,759,609.75
	Butterfat				3,367,979	\$2.2183 /lb	7,471,187.81
Class III	Skim Milk		104,849,94	48		\$9.46 /cwt	9,918,805.07
	Butterfat				6,773,625	\$2.2113 /lb	14,978,516.96
Class IV	Skim Milk		152,529,15	59		\$12.48 /cwt	19,035,639.04
	Butterfat				1,978,783	\$2.2113 /lb	4,375,682.84
Classified	d Value		393,859,21	6	14,285,527		\$79,705,387.63
Inventory	- Class II			0	3,759		(\$254.11)
-	- Class III		89,05		5,629	_	(2,521.62)
Total Inve	entory		89,05	55	9,388		(\$2,775.73)
Class I Ot	ther Source Fluid		116,96	65	2		\$16,718.86
	Adjustments						107,540.07
1/2 Balan	ce in Producer Set	tlement Fund					198,195.59
Producer	Butterfat at Unifor	m Butterfat Price				_	(31,763,873.73)
Total Skir	m Milk and Aggreo	gate Value	393,976,18	31 °	14,285,529 \$	12.24977423 /cwt	\$48,261,192.69
Producer	Settlement Fund F	Reserve			\$	0.04977423 /cwt	\$196,098.61
Uniform	Skim Milk Price	(Maricopa County, AZ)			\$	12.20 /cwt	
Uniform	Butterfat Price				\$	2.2235 /lb	
Uniform	Price (Maricopa	County, AZ)	(\$12.20 x .96	55 + \$2.223	5 x 3.5) \$	19.56 /cwt	
Estimated	d Market Wide Utili	zation in Class I					
Skim Pero	centage		30.00%				
Butterfat I	Percentage		15.00%				

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAMS

Federal Order No. 131

Released:

June 09, 2011

% UTILIZATION

COMPUTATION OF UNIFORM PRICE

% SKIM

<u>SKIM</u>

% BFAT

PRODUCT

May 2011

BUTTERFAT

		PER CLASS	POUNDS	PER CLASS	POUND	S PER CLASS	POUNDS
Producer	Milk - Class I	28.05%	114,572,008	28.52%	112,432,6	94 15.08%	2,139,314
Producer	Milk - Class II	7.85%	32,075,604	7.14%	28,169,7	24 27.52%	3,905,880
Producer	Milk - Class III	26.60%	108,658,725	25.85%	101,901,2	19 47.62%	6,757,506
Producer	Milk - Class IV	37.50%	153,144,057	38.49%	151,755,5	90 9.78%	1,388,467
Total Pro	ducer Receipts	100.00%	408,450,394	100.00%	394,259,2	27 100.00%	14,191,167
			<u>skim</u> Pounds		BFAT POUNDS	LB/CWT PRICE	<u>TOTAL</u> DOLLARS
Class I	Skim Milk		112,432,69	94		\$12.49 /cwt	\$14,042,843.49
	Butterfat				2,139,314	\$2.1984 /lb	4,703,067.90
	Class I Differenti	al at Location					2,615,149.80
Class II	Skim Milk		28,169,72	24		\$13.19 /cwt	3,715,586.59
	Butterfat				3,905,880	\$2.2567 /lb	8,814,399.40
Class III	Skim Milk		101,901,21	19		\$8.96 /cwt	9,130,349.21
	Butterfat				6,757,506	\$2.2497 /lb	15,202,361.25
Class IV	Skim Milk		151,755,59	90		\$12.87 /cwt	19,530,944.43
	Butterfat				1,388,467	\$2.2497 /lb	3,123,634.21
Classified	d Value		394,259,22	27	14,191,167		\$80,878,336.28
Inventory	- Class III		1,446,32	25	8,621	_	(\$50,579.60)
Total Inve	entory		1,446,32	25	8,621		(\$50,579.60)
Class I Of	ther Source Fluid		151,25	55	3		\$22,452.90
Location /	Adjustments						105,621.35
1/2 Balan	ce in Producer Sett	tlement Fund					204,750.44
Producer	Butterfat at Uniforn	n Butterfat Price					(31,891,816.34)
Total Skir	m Milk and Aggreg	ate Value	394,410,48	32	14,191,170 \$1	2.49174839 /cwt	\$49,268,765.03
Producer	Settlement Fund R	eserve			\$0	.04174839 /cwt	\$164,660.03
Uniform	Skim Milk Price(Maricopa County, AZ)			\$1	2.45 /cwt	
Uniform	Butterfat Price				\$2	.2473 /lb	
Uniform	Price (Maricopa (County, AZ)	(\$12.45 x .96	5 + \$2.247	3 x 3.5) \$1	9.88 /cwt	
Estimated	d Market Wide Utiliz	zation in Class I					
Skim Per	centage		29.00%				
Butterfat I	Percentage		15.00 [%]				

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAMS

Federal Order No. 131

Released:

July 08, 2011

COMPUTATION OF UNIFORM PRICE

June 2011

		% UTILIZATION PER CLASS	PRODUCT POUNDS	<u>% SKIM</u> PER CLASS	SKIM POUNDS	% BFAT PER CLASS	BUTTERFAT POUNDS
Producer	Milk - Class I	28.05%	106,530,415	28.50%	104,451,22	9 15.67%	2,079,186
Producer	Milk - Class II	7.67%	29,133,991	6.86%	25,143,67	7 30.05%	3,990,314
Producer	Milk - Class III	29.99%	113,892,602	29.17%	106,937,69	7 52.38%	6,954,905
Producer	Milk - Class IV	34.29%	130,259,813	35.47%	130,006,97	1.90%	252,842
Total Pro	ducer Receipts	100.00%	379,816,821	100.00%	366,539,57	4 100.00%	13,277,247
			<u>SKIM</u> <u>POUNDS</u>		BFAT POUNDS	<u>LB/CWT</u> <u>PRICE</u>	<u>TOTAL</u> <u>DOLLARS</u>
Class I	Skim Milk		104,451,22	:9		\$12.82 /cwt	\$13,390,647.57
	Butterfat		- , - ,		2,079,186	\$2.2700 /lb	4,719,752.22
	Class I Different	al at Location					2,426,787.39
Class II	Skim Milk		25,143,67	7		\$13.52 /cwt	3,399,425.13
	Butterfat				3,990,314	\$2.3772 /lb	9,485,774.45
Class III	Skim Milk		106,937,69	7		\$11.21 /cwt	11,987,715.84
	Butterfat				6,954,905	\$2.3702 /lb	16,484,515.84
Class IV	Skim Milk		130,006,97	'1		\$13.22 /cwt	17,186,921.57
	Butterfat				252,842	\$2.3702 /lb	599,286.11
Classified	d Value		366,539,57	4	13,277,247		\$79,680,826.12
Inventory	- Class III			0	20,511		\$2,471.57
Total Inve	entory			0 —	20,511	_	\$2,471.57
Class I Ot	ther Source Fluid		148,79	7	3		\$22,579.38
Location /	Adjustments						102,580.57
1/2 Balan	ce in Producer Set	tlement Fund					184,713.38
Producer	Butterfat at Uniform	m Butterfat Price				_	(31,336,965.45)
Total Skir	m Milk and Aggreç	jate Value	366,688,37	1 '	13,277,250 \$13	.26908880 /cwt	\$48,656,205.57
Producer	Settlement Fund F	Reserve			\$0.0	04908880 /cwt	\$180,002.92
Uniform	Skim Milk Price	(Maricopa County, AZ)			\$13	.22 /cwt	
Uniform	Butterfat Price				\$2.3	3602 /lb	
Uniform	Price (Maricopa	County, AZ)	(\$13.22 x .96	5 + \$2.360	2 x 3.5) \$21	.02 /cwt	
Estimated	d Market Wide Utili:	zation in Class I					
Skim Pero	centage		29.00%				
	Percentage		15.00 [%]				

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAMS

Federal Order No. 131

Released:

August 10, 2011

% UTILIZATION

COMPUTATION OF UNIFORM PRICE

% SKIM

<u>SKIM</u>

% BFAT

PRODUCT

July 2011

BUTTERFAT

		PER CLASS	POUNDS	PER CLASS		NDS P	PER CI		POUNDS	
Producer	Milk - Class I	31.12%	110,116,914	31.62%	107,99	7,907		17.29%	2,119,00	7
Producer	Milk - Class II	7.77%	27,504,404	7.00%	23,91	10,185	:	29.33%	3,594,21	9
Producer	Milk - Class III	26.79%	94,804,878	26.05%	88,99	95,446		47.40%	5,809,43	2
Producer	Milk - Class IV	34.32%	121,412,910	35.33%	120,67	79,796		5.98%	733,11	4
Total Pro	ducer Receipts	100.00%	353,839,106	100.00%	341,58	3,334	10	00.00%	12,255,77	2
			<u>SKIM</u> POUNDS		BFAT POUNDS		B/CW		TOTAL DOLLARS	<u>}</u>
Class I	Skim Milk		107,997,90)7		\$13	3.17	/cwt	\$14,223,324.3	6
	Butterfat				2,119,007	\$2.3	3770	/lb	5,036,879.6	3
	Class I Differenti	al at Location							2,512,627.3	7
Class II	Skim Milk		23,910,18	35		\$13	3.87	/cwt	3,316,342.6	5
	Butterfat				3,594,219	\$2.2	2581	/lb	8,116,105.9	3
Class III	Skim Milk		88,995,44	16		\$14	.00	/cwt	12,459,362.4	4
	Butterfat				5,809,432	\$2.2	2511	/lb	13,077,612.3	8
Class IV	Skim Milk		120,679,79	96		\$12	2.90	/cwt	15,567,693.6	8
	Butterfat				733,114	\$2.2	2511	/lb	1,650,312.9	3
Classified	l Value		341,583,33	34	12,255,772				\$75,960,261.3	7
Inventory	- Class II			0	1,554				(\$174.20))
Inventory	- Class III		264,38	34	11,123			_	737.4	5
Total Inve	entory		264,38	34	12,677				\$563.25	5
Class I Ot	ther Source Fluid		133,98	37	2				\$20,799.5	8
Location /	Adjustments								85,612.7	8
1/2 Balan	ce in Producer Set	tlement Fund							202,265.7	9
Producer	Butterfat at Uniforn	n Butterfat Price						_	(27,928,457.79))
Total Skir	m Milk and Aggreg	ate Value	341,717,32	21	12,255,774	\$14.14650)122	/cwt	\$48,341,044.9	3
Producer	Settlement Fund R	eserve				\$0.046501	22	/cwt	\$158,902.7	2
Uniform	Skim Milk Price ((Maricopa County, AZ)				\$14.10	/cwt			
Uniform	Butterfat Price					\$2.2788	/lb			
Uniform	Price (Maricopa	County, AZ)	(\$14.10 x .96	5 + \$2.278	8 x 3.5)	\$21.58	/cwt			
Estimated	I Market Wide Utiliz	zation in Class I								
Skim Pero	centage		28.00%							
	Percentage		16.00%							

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAMS

Federal Order No. 131

Released:

September 09, 2011

% UTILIZATION

COMPUTATION OF UNIFORM PRICE

% SKIM

<u>SKIM</u>

% BFAT

PRODUCT

August 2011

BUTTERFAT

		PER CLASS	POUNDS	PER CLASS	POU	NDS PEF	CLASS	POUNDS
Producer	Milk - Class I	34.75%	122,060,834	35.34%	119,78	6,731	18.60%	2,274,103
Producer	Milk - Class II	9.91%	34,815,018	8.98%	30,43	9,455	35.79%	4,375,563
Producer	Milk - Class III	31.28%	109,856,422	30.95%	104,92	3,043	40.35%	4,933,379
Producer	Milk - Class IV	24.06%	84,476,810	24.73%	83,83	3,379	5.26%	643,431
Total Pro	ducer Receipts	100.00%	351,209,084	100.00%	338,98	2,608	100.00%	12,226,476
			<u>SKIM</u> POUNDS		BFAT POUNDS		CWT ICE	TOTAL DOLLARS
Class I	Skim Milk		119,786,73	31		\$14.05	/cwt	\$16,830,035.71
	Butterfat				2,274,103	\$2.249	6 /lb	5,115,822.11
	Class I Differenti	al at Location						2,790,119.75
Class II	Skim Milk		30,439,4	55		\$13.97	/cwt	4,252,391.85
	Butterfat				4,375,563	\$2.305	55 /lb	10,087,860.50
Class III	Skim Milk		104,923,04	43		\$14.12	/cwt	14,815,133.67
	Butterfat				4,933,379	\$2.298	5 /lb	11,339,371.64
Class IV	Skim Milk		83,833,3	79		\$12.53	/cwt	10,504,322.40
	Butterfat				643,431	\$2.298	5 /lb	1,478,926.15
Classified	d Value		338,982,60	08	12,226,476			\$77,213,983.78
Inventory	- Class II		1,194,88	85	0			\$12,785.27
Inventory	- Class III			0	582,794		_	27,624.44
Total Inve	entory		1,194,88	35	582,794			\$40,409.71
Class I O	ther Source Fluid		122,76	68	1			\$20,136.24
Location A	Adjustments							105,925.10
1/2 Balan	ce in Producer Set	tlement Fund						191,183.94
Producer	Butterfat at Uniform	m Butterfat Price					_	(28,073,213.84)
Total Skir	m Milk and Aggreg	jate Value	339,105,37	76	12,226,477	\$14.5967679	8 /cwt	\$49,498,424.93
Producer	Settlement Fund F	Reserve				\$0.04676798	/cwt	\$158,592.73
Uniform	n Skim Milk Price	(Maricopa County, AZ)				\$14.55 /c	wt	
Uniform	n Butterfat Price					\$2.2961 /	b	
Uniform	n Price (Maricopa	County, AZ)	(\$14.55 x .96	65 + \$2.296	1 x 3.5)	\$22.08 /0	wt	
Estimated	d Market Wide Utiliz	zation in Class I						
Skim Per	centage		32.00%					
	Percentage		17.00%					
	-							

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAMS

Federal Order No. 131

Released:

October 11, 2011

COMPUTATION OF UNIFORM PRICE

September 2011

		% UTILIZATION PER CLASS	PRODUCT POUNDS	<u>% SKIM</u> PER CLASS	<u>SKI</u> POUN		
Producer	Milk - Class I	32.96%	112,735,602	33.52%	110,656	5,200 17	2,079,402
Producer	Milk - Class II	9.84%	33,640,434	9.04%	29,850),300 32	.04% 3,790,134
Producer	Milk - Class III	32.01%	109,484,164	31.50%	104,009	9,779 46	5,474,385
Producer	Milk - Class IV	25.19%	86,136,632	25.94%	85,652	2,705 4	.09% 483,927
Total Pro	ducer Receipts	100.00%	341,996,832	100.00%	330,168	,984 100	.00% 11,827,848
			<u>SKIM</u> POUND	<u>s</u>	BFAT POUNDS	LB/CWT PRICE	<u>TOTAL</u> DOLLARS
Class I	Skim Milk		110,656,2	200		\$14.16 /cv	wt \$15,668,917.92
	Butterfat				2,079,402	\$2.3175 /lb	
	Class I Different	ial at Location					2,570,513.88
Class II	Skim Milk		29,850,	300		\$13.29 /cv	wt 3,967,104.88
	Butterfat				3,790,134	\$2.2075 /lb	8,366,720.80
Class III	Skim Milk		104,009,	779		\$11.78 /cv	wt 12,252,351.97
	Butterfat				5,474,385	\$2.2005 /lb	12,046,384.18
Class IV	Skim Milk		85,652, ⁻	705		\$12.26 /cv	wt 10,501,021.64
	Butterfat				483,927	\$2.2005 /lb	1,064,881.36
Classified	d Value		330,168,9	984	11,827,848		\$71,256,910.77
Inventory	- Class I		52,	144	0		\$2,075.33
Inventory	- Class II		378,	256	525		2,826.97
Inventory	- Class III		379,2	215	459,957		(47,919.91)
Total Inve	entory		809,0	615	460,482		(\$43,017.61)
Class I Ot	ther Source Fluid		110,	113	3		\$18,186.68
Location /	Adjustments						106,269.63
1/2 Balan	ce in Producer Set	tlement Fund					185,776.72
Producer	Butterfat at Unifor	m Butterfat Price					(26,344,172.53)
Total Skir	ո Milk and Aggreç	gate Value	330,279,0	097	11,827,851	\$13.67932578	/cwt \$45,179,953.66
Producer	Settlement Fund F	Reserve			:	\$0.04932578	/cwt \$162,912.74
Uniform	Skim Milk Price	(Maricopa County, AZ)			:	\$13.63 /cwt	
Uniform	Butterfat Price				;	\$2.2273 /lb	
Uniform	Price (Maricopa	County, AZ)	(\$13.63 x .9	965 + \$2.227	'3 x 3.5)	\$20.95 /cwt	
Estimated	d Market Wide Utili	zation in Class I					
Skim Per		24.011 111 01400 1	35.00%				
	Percentage		19.00%				
Datterial	Orocinage		19.00				

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAMS

Federal Order No. 131

Released:

November 09, 2011

% UTILIZATION

COMPUTATION OF UNIFORM PRICE

% SKIM

<u>SKIM</u>

% BFAT

PRODUCT

October 2011

BUTTERFAT

		PER CLASS	POUNDS	PER CLASS		NDS P	PER CLASS	POUNDS
Producer	Milk - Class I	33.11%	121,373,986	33.67%	119,05	53,521	17.81%	2,320,465
Producer	Milk - Class II	8.65%	31,713,317	7.68%	27,15	57,257	34.97%	4,556,060
Producer	Milk - Class III	29.32%	107,467,461	28.83%	101,92	26,805	42.52%	5,540,656
Producer	Milk - Class IV	28.92%	106,032,256	29.82%	105,41	19,382	4.70%	612,874
Total Pro	ducer Receipts	100.00%	366,587,020	100.00%	353,55	6,965	100.00%	13,030,055
			<u>SKIM</u> POUNDS		BFAT POUNDS	_	B/CWT PRICE	<u>TOTAL</u> <u>DOLLARS</u>
Class I	Skim Milk		119,053,52	1		\$12	.28 /cwt	\$14,619,772.37
	Butterfat				2,320,465	\$2.2	2014 /lb	5,108,271.64
	Class I Differenti	al at Location						2,771,107.85
Class II	Skim Milk		27,157,257	7		\$12	.98 /cwt	3,525,011.96
	Butterfat				4,556,060	\$1.9	9662 /lb	8,958,125.17
Class III	Skim Milk		101,926,805	5		\$11	.58 /cwt	11,803,124.01
	Butterfat				5,540,656	\$1.9	9592 /lb	10,855,253.23
Class IV	Skim Milk		105,419,382	2		\$11	.97 /cwt	12,618,700.03
	Butterfat				612,874	\$1.9	9592 /lb	1,200,742.74
Classifie	d Value		353,556,965	i	13,030,055			\$71,460,109.00
Inventory	- Class III		149,170		574,603			(\$139,666.06)
Total Inve	entory		149,170)	574,603			(\$139,666.06)
Class I O	ther Source Fluid		205,229	e	3			\$30,031.67
Location	Adjustments							110,405.79
1/2 Balan	ce in Producer Set	tlement Fund						179,081.03
Producer	Butterfat at Uniforn	n Butterfat Price						(26,174,780.51)
Total Ski	m Milk and Aggreg	ate Value	353,762,194	ŀ	13,030,058	\$12.85190)495 /cwt	\$45,465,180.92
Producer	Settlement Fund R	Reserve				\$0.041904	195 /cwt	\$148,243.87
Uniform	n Skim Milk Price((Maricopa County, AZ)				\$12.81	/cwt	
Uniform	Butterfat Price					\$2.0088	/lb	
Uniform	n Price (Maricopa	County, AZ)	(\$12.81 x .965	+ \$2.008	8 x 3.5)	\$19.39	/cwt	
Estimated	d Market Wide Utiliz	zation in Class I						
Skim Per	centage		34.00%					
Butterfat	Percentage		18.00%					

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAMS

Federal Order No. 131

Released:

December 08, 2011

% UTILIZATION

COMPUTATION OF UNIFORM PRICE

% SKIM

<u>SKIM</u>

% BFAT

PRODUCT

November 2011

BUTTERFAT

		PER CLASS	POUNDS	PER CLASS	POUN		CLASS	POUNDS
Producer	Milk - Class I	33.83%	121,746,579	34.42%	119,37	3,650	18.27%	2,372,929
Producer	Milk - Class II	8.97%	32,298,031	8.13%	28,199	9,341	31.55%	4,098,690
Producer	Milk - Class III	25.48%	91,696,763	24.73%	85,79	5,974	45.43%	5,900,789
Producer	Milk - Class IV	31.72%	114,125,356	32.72%	113,508	8,376	4.75%	616,980
Total Pro	ducer Receipts	100.00%	359,866,729	100.00%	346,877	7,341	100.00%	12,989,388
			<u>SKIM</u> POUNDS	<u>s</u>	BFAT POUNDS	LB/C PRI		TOTAL DOLLARS
Class I	Skim Milk		119,373,6	650		\$12.16	/cwt	\$14,515,835.85
	Butterfat				2,372,929	\$1.917	9 /lb	4,551,040.53
	Class I Differenti	al at Location						2,782,964.54
Class II	Skim Milk		28,199,3	341		\$12.86	/cwt	3,626,435.25
	Butterfat				4,098,690	\$1.9578	g /lb	8,024,415.28
Class III	Skim Milk		85,795,9	974		\$12.69	/cwt	10,887,509.10
	Butterfat				5,900,789	\$1.950	g /lb	11,511,259.19
Class IV	Skim Milk		113,508,3	376		\$11.44	/cwt	12,985,358.21
	Butterfat			<u> </u>	616,980	\$1.950	8 /lb	1,203,604.59
Classified	d Value		346,877,3	341	12,989,388			\$70,088,422.54
Inventory	- Class II		195,0	034	6,177			\$1,727.15
Total Inve	entory		195,0	034	6,177		-	\$1,727.15
Class I O	ther Source Fluid		251,	193	2			\$36,451.99
Location A	Adjustments							89,677.24
1/2 Balan	ce in Producer Set	tlement Fund						165,338.79
Producer	Butterfat at Uniforr	m Butterfat Price					_	(25,344,897.77)
Total Skir	m Milk and Aggreg	jate Value	347,128,5	534	12,989,390	\$12.97407604	ı /cwt	\$45,036,719.94
Producer	Settlement Fund F	Reserve				\$0.04407604	/cwt	\$153,000.51
Uniform	n Skim Milk Price	(Maricopa County, AZ)				\$12.93 /cv	vt	
Uniform	n Butterfat Price					\$1.9512 /lk)	
Uniform	n Price (Maricopa	County, AZ)	(\$12.93 x .9	965 + \$1.951	2 x 3.5)	\$19.31 /c	wt	
Estimated	d Market Wide Utiliz	zation in Class I						
Skim Per	centage		34.00 [%]					
Butterfat	Percentage		18.00 [%]					
Dalaaaad		\\\(\lambda\)	om A Wigo Mork	at Adminiatrata	-			

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAMS

Federal Order No. 131

Released:

January 10, 2012

% UTILIZATION

COMPUTATION OF UNIFORM PRICE

% SKIM

<u>SKIM</u>

% BFAT

PRODUCT

December 2011

BUTTERFAT

		PER CLASS	POUNDS	PER CLASS	· · · · · · · · · · · · · · · · · · ·	IDS PER C	CLASS	POUNDS
Producer	Milk - Class I	30.78%	118,822,975	31.33%	116,517	7,182	16.24%	2,305,793
Producer	Milk - Class II	6.93%	26,747,289	6.23%	23,166	5,542	25.22%	3,580,747
Producer	Milk - Class III	28.72%	110,873,702	27.92%	103,826	5,892	49.63%	7,046,810
Producer	Milk - Class IV	33.57%	129,628,144	34.52%	128,362	2,366	8.91%	1,265,778
Total Pro	ducer Receipts	100.00%	386,072,110	100.00%	371,872	2,982	100.00%	14,199,128
			<u>SKIM</u> POUNDS		BFAT POUNDS	LB/CV PRIC		<u>TOTAL</u> DOLLARS
Class I	Skim Milk Butterfat Class I Differenti	al at Location	116,517,18	2	2,305,793	\$11.82 \$2.0191	/cwt /lb	\$13,772,330.91 4,655,626.65 2,709,829.57
Class II	Skim Milk		23,166,54	2		\$12.38	/cwt	2,868,017.90
	Butterfat				3,580,747	\$1.7513	/lb	6,270,962.22
Class III	Skim Milk		103,826,89	2		\$13.12	/cwt	13,622,088.23
	Butterfat				7,046,810	\$1.7443	/lb	12,291,750.69
Class IV	Skim Milk		128,362,36	6		\$11.16	/cwt	14,325,240.05
	Butterfat				1,265,778	\$1.7443	/lb _	2,207,896.56
Classified	d Value		371,872,98	2	14,199,128			\$72,723,742.78
Overage			259,52		0		_	\$28,963.44
Total Ove	erage		259,52	9	0			\$28,963.44
Inventory	- Class II		204,30	4	4,687		_	\$985.40
Total Inve	entory		204,30	4	4,687			\$985.40
Class I O	ther Source Fluid		143,10	7	3			\$20,284.39
	Adjustments ice in Producer Set	tlement Fund						109,785.49 165,506.25
Producer	Butterfat at Uniform	n Butterfat Price						(25,478,920.67)
Total Skir	m Milk and Aggreg	ate Value	372,016,08	9	14,199,131	\$12.78717467	/cwt	\$47,570,347.08
Producer	Settlement Fund R	Reserve			:	\$0.04717467	/cwt	\$175,497.36
Uniform	n Skim Milk Price((Maricopa County, AZ)			:	\$12.74 /cwt	t	
Uniform	n Butterfat Price				;	\$1.7944 /lb		
Uniform	n Price (Maricopa	County, AZ)	(\$12.74 x .96	5 + \$1.794	4 x 3.5)	\$18.57 /cw	t	
Estimated	d Market Wide Utiliz	zation in Class I						
Skim Per	centage		34.00 [%]					
Butterfat	Percentage		18.00 [%]					
. .		14.00						